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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YQU SHQOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF S0, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

the Box provided alongside. DO NCT write anything else on
the Test Booklet.

. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and

English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case vou feel that there is more than one correct response,
mark the response which you consider the best. In any case, choosec ONLY ONE response for each
item. '

. You have to mark all your responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet.

. All items carry equal marks.

Before vou proceed to mark in the Answer Sheet the response to various ilemis in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

. After you have completed {filling in all your responses on the Answer Sheet and the examination

has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answetrs ;

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

{i} There are four alternatives for the answer fo every question. For each question for which a
wrong answer has been given by the candidale, one-third of the marks assigned to that
guestion will be deducted as penally.

(i) If & candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question, :

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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1. Suppose ®© is a cube root of unity Y P
4 I z=x+iy=|—-—]| ,wherei=+1,
with w= 1. Suppose P and Q are the ety [Jﬁ JQ] Wl
points on the complex plane defined then what is the fundamental amplitude
by @ and @?. If O is the origin, then of 272 5
what is the angle between OF and OQ? 2-12
al T
(@ 60° (@
® =
(B) 90° 2
' b
& C -
(c) 120 {ci 3
{d) 150° (d) n
4

2. Suppose there is a relation * between the

positive numbers x and y given by x*y & i
- ; 2 - : X —X
if and only if x < y“. Then which one Fixq) ~ Flxg) =f[1i 2 ]
of the following is correct? S
fa) = is reflexive but not transitive and - for x;, x, € (=1, 1), then what is f{x)
symmetric equal to?
’ nfl-x
(b} +* is transitive but not reflexive and (@ n Tax
symmetric
. m 1n[22)
{c) *is symmetric and reflexive but not ANl x
transitive =
fc) tan_l[i—x)
{d} *is symmetric but not reflexive and T X
transitive () tan_l(; + xw

3. I x?- px+4 >0 for all real values of x,

thel ‘Whidh oo B ke Suswg e 6. What is the range of the function

correct? = %2
2
@ 1pl<4 | ke
where xeR?
fb) [pls4 fo) (0, 1)
g, 1
fc) [pl>4 " ]
fcj (0, 1)
{4 Iplz4 {dy (0, 1j
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(2) ln[l x]
. : e 1+x
(b) =TmH B AR waged o wAlE ,

() *ﬁgﬂ%éﬁﬁﬁmaﬁtmﬁd?ﬁ -

. : _ ) ln[2+x]
fe) » GufhT 3 IEEET ¥ oI WRITE ad 1- x
(d) ety ¥ A wged S HeEe T o) tan—l(i;’f)
i + X
3.9% x % wh o A ® fmw - ) tan'l(it—;]
x? - px+4 > 0%, @ Fefefes § @ sR-w '
TF HEl &7 .
; 6. W y =~y S WIH FTE, TE xR §7
fa) |pl<4 L
_. @ 10, 1)
() |pl<4
(b} [0, 1]
o el (0, 1)
fd) |plz4 f@) (0, 1]
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7. A straight line intersects x and y axes
at P and Q respectively. If (3, 3] is the
middle point of PQ, then what is the
area of the triangle OPQ?

faj 12 square units
{b}) 15 square units
{c) 20 square units

{d) 30 sguare units

8. If a circle of radius b units with centre
at (D, b) touches the line y=x-+2,
then what is the value of b?

{a) 2++2
(b) 2-2
{c) 242
(d) 2

For the next three (3) {tems that follow :

Consider the functon

£18) = 4(sin” 8 + cos™ 8)

9, What is the maximum wvalue of the
function f(8)7?
{a) 1
b) 2
fc] 3
d 4

10. What is the minimum value of the
function f{8)2

@ o
] 1
fc 2
(dj 3
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11. Consider thel following statements

1. f{6)=2 has no solution.

2. f(9) =% has a solution.

Which of the above. statements is/are
correct? '

{faj 1 only

{b) 2 only

{c} Both 1 and 2
{d) Neither 1 nor 2.

For the next two (2) items that follow :

Consider the curves

3x -
—, x>0
flx)=x|x|-1and g(x)={ 2
; 2x, x=0

12. Where do the curves intersect?
fa) At (2, 3) only
b} At (-1, —2) only
fc) At(2, 3)and (-1, -2)

fdj Necither at (2, 3) nor at (-1, —-2)
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